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PHYSICAL EDUCATION
PAPER —1II

Note : This paper contains fifty (50) multiple-choice questions, each question carrying

two (2) marks. Attempt all of them.

The foundation of Physical Education is made strong with :
(A) Scientific facts (B) Philosophical concepts
(C) Cultural heritage (D) Physical culture

All round development of Personality includes :
(A) Physical and Mental development

(B) Social and Emotional development

©)

(D)

Moral and spiritual development
All of the above

The Olympic movement in India was initiated by :
(A) Prof. G.D. Sondhi (B)  Shri Dorabji Tata
(C) Pt. Jawaharlal Nehru (D) Maharaja Yadvendra Singh

Word ‘Athlete’ means :
(A) The Strong Individual (B) The Contestant
(C) The Winner (D) The Slave

Exercise and growth are closely related for :
(A) Quantitative growth (B) Qualitative development
(C) Both (A) and (B) (D) None of the above

“Socialization is the process of coming together and making adjustment for doing work
and discharging the responsibility of the society”. The quotation refers to :

(A) Bogardus (B) Aristotle (C) Plauto (D) Neumeyer

The mechanism of energy production through splitting of ATP and P.C. is called as :
(A) Lactic acid (B) Carbohydrate (C) Alactic acid (D) Fat

‘Frostbite” is a medical problem occurs in :
(A) Cold Environment (B) High Altitude
(C) Hot Environment (D) High Pressure Area

D —4705 2
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9.  Match List - I with List - II and select the correct answer using the code given below :

List - I List - II
(a) Hydrotherapy (i) Hot formentation
(b) Cryotherapy (i) Ultra sound
(c)  Electrotherapy (iii) Whirlpool bath
(d) Thermotherapy (iv) Cold compression
Code : @ @Mm () ()
(A) (i) (v) (@) (@)
(B) i @ (@) (i)
(© (iv) () (@ (i)
(D) ® @) () (i)

10. Match List - I with List - II and select the correct answer using the code given below :
List - I List - II

(a) Rajyavardhan Singh (i)  Athletics

(b) Sania Mirza (i) Tennis

(c) Narayan Karthikeyan (i) Shooting

(d) Anju Bobby George (iv) Formula One
Code : (@ (b)) (© (@

(A) (i @) @ @)

(B) (i) (@v) @) @

(© (v) (@) @) @

(D) (i) (@) @) @

11. Match List - I with List - II and select the correct answer using the code given below :

List - I List - II
(a) Burpee Squat Thrust (i) Growth measurement
(b) Harvard Step Test (i) Agility measurement
() Wetzel Grid Test (iii) Endurance measurement
(d) Bass Stick Test (iv) Balance measurement
Code : @ (b)) (© (@
(A) (i) () (@Gv) (@)
(B) (i) @) @ @)
(© (iv) (@) () (i)
(D) ®  Gv) (D) (i)
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12.

13.

14.

Match List - I with List - IT and select the correct answer using the code given below :

List - I

(a) Aerobic (i)
(b) Anaerobic (if)
(c) ATP (iii)
(d) Anemia (iv)
Code : @ (b)) (© (@

(A) ® @) () (i)

(B) i @ () @)

(© (i) (v) @ ()

(D) (iv) (@) () (i)

List - II

Source of energy
Lack of Hemoglobin
Presence of O,
Absence of O,

Match List - I with List - IT and select the correct answer using the code given below :

List - I
(a) Surplus energy theory of play (i)
(b) Recreational theory of play (ii)
(c) Instinct theory of play (iii)
(d) Social contact theory of play (iv)
Code : @ () (© (@
(A) () O (@ @)
(B) 0 G ) @)
(@ ) ) O @)
(D) v) ) @) @

List - IT
Gutsumuths

Karl Groos
Spencer L. Schiller
Lumley

Match List - I with List - IT and select the correct answer using the code given below :

List - I
(a) Shoulder (i)
(b)  Elbow (ii)
() Neck (iii)
(d) Wrist (iv)
Code : @ () (¢ ()
(A) @ O Gv) G
() v) @) 6 @
(@ (i) (v) @)
(D) v) @) @)

List - II

Gliding Joint

Pivot Joint

Hinge Joint

Ball and Socket Joint
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Match List - I with List - IT and select the correct answer using the code given below :

List - II
Fear
Love
Disgust
Anger

Match List - I with List - IT and select the correct answer using the code given below :

List - II

Hospital
Amusement Park
School and College
Rural and Urban

Match List - I with List - IT and select the correct answer using the code given below :

15.
List - I
(a) Combat
(b) Repulsion
(c) Escape
(d) Mating
Code : @ @) () ()
(A) 0 i) @) @)
(B) v) Gi) () @)
(@ () () @) (@)
(D) () Gv) () (@)
16.
List - I
(a) Community Recreation
(b) Commercial Recreation
(c) Institutional Recreation
(d) Therapeutic Recreation
Code : (@ (b)) (© (@
(A) 0 () @) (i)
(B) (@ (@) () @
(©) v) @) @) @
(D) () @ @) @)
17.
List - I
(a) Troponin I
(b) Troponin T
(¢) Troponin C
(d) Myosin
Code : @ @) () ()
(A) ) () @) (i)
(B) O () () @)
(©) (@ (i) () @
(D) () @) () (@)
D —4705
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Affinity for Tropomoscin
Affinity for Calcium
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18.

19.

20.

21.

22.

23.

24.

Assertion (A) : The digestion takes place in intestine (small and large) after
stomach.

Reason (R) : This is due to Peristaltic movements of the intestine.
(A) (A) and (R) are true

(B) (A)is true

(C) (A)is false

(D) Both (A) and (R) are true but (R) is not correct explanation
Assertion (A) A fit player gives better performance.

Reason (R) : Better performance depends on physical fitness.

(A) Both (A) and (R) are true, but (R) is not correct explanation

(B)  (A) is true but (R) is false

(C) (A) is false but (R) is true

(D) Both (A) and (R) are true

Assertion (A) Sodium bicarbonate supplimentation can delay the onset of
fatigue.

Reason (R) : A dose of 300 mg/kg body weight taken almost 2 - 3 hours
before exercise appears to be both effective and medically safe.

(A) Both (A) and (R) false

(B) Both (A) and (R) are true

(C) (A) is true but (R) is false

(D) (A) is false but (R) is true

Which one of the following “pair” is not correctly matched ?

(A) Flexion and extension (B) Abduction and Adduction

(C) Bone and Cartilage (D) Agonist and Antagonists

Which one of the following pair is correctly matched ?
(A) Muscle and Tissues (B) Origin and Insersion

(C) Concentric and accentric (D) Contraction and relaxation

In research the scientific method is called :

(A) Inquiry (B) Observation (C) Inspection (D) Problem Solving

The bio-mechanical principle of ‘projecting’ the body for accuracy is :
(A) Aerial Tumbling (B) Long Jump
(C) Triple Jump (D) Running

D —4705 10
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25.

26.

27.

28.

Which one of the following is not correct ?

(A) Pie-chart, histogram, bar-diagram, graphical representation
(B) Range, quartile deviation, average deviation, standard deviation
(C) Type I error, Type II error, null hypothesis, linear regression

(D) Normal scale, ordinal scale, ratio scale, quantification of data

The test can be established by determining the following criteria. The ascending order
of criteria is given in code, choose the correct answer :

(i)  Validity
(i) Objectivity
(iii) Reliability
(iv) Norm

Code :

(A)  (iv), (i), (iid), (ii)
(B) (i), (iid), (i), (iv)
() (i), (i), (i), (iv)
(D) ), (i), (iii), (iv)

The multiple periodization constitutes following periods in the sequence of training the
athletes :

(i)  Build-up competition period

(ii) Transitional period

(iii) Preparatory period phase I and II
(iv) Main competition period

Code :

(A) (i), (iv), (i), (iii)
(B) (i), (i), (iv), (ii)
Q) (iv), (i), (iid), (ii)
(D) (iii), (i), (iv), (ii)

The main concepts involved in research work are specified below. Choose correct
answer, using the code :

(i) Paleography and primary source

(i) Extraneous Variables and Treatment group

(iii) Cultural and naturalistic

(iv) Individual and Interviews

Code :

(A) Historical Experimental, Ethnographic Study, Case Study
B) Ethnographic Study, Experimental, Historical, Case Study
) Experimental, Historical, Case Study, Ethnographic

D) Case Study, Experimental, Ethnographic Study, Historical

D —4705 12



25.

26.

27.

28.

frfafed § w0 o 92 7= T
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29.

30.

Management of Physical Education and sports is :

(i) A Science

(i) An Art

(iii) Management

(iv) Humanities

(A) (i) and (ii) are correct (B) (i) and (iii) are correct

(C) (iii) and (iv) are correct (D) (i), (ii) and (iii) are correct

The side effects of blood doping are :
(i) Heart failure

(i) Heart hypertrophy

(iii) Bacterial Infection

(iv) Obesity

Codes :

(A) (i) and (ii) are true

(B) (i) and (iii) are true

(C) (), (ii) and (iii) are true
(D) (i) is true, (iii) is false

Read the passage below, and answer the questions that follow based on your
understanding of the passage :

The diseases are of two types, communicable and noncommunicable. Most
communicable diseases are infectious, which can spread from one person to another
person or a group. That is the reason why, at times, typhoid, dysentery, chlorea,
gostroenteritis, malaria, tuberculosis etc., caused by pathogenic bacteria, come in
epidemic form if adequate preventive measures are not taken. A disease is considered
epidemic when it occurs in a community or a region clearly in excess of its normal
expectancy, and from a common or propagated source. Itis endemic when it is prevalent
in an entire locality or a community at a point of time. It is said to be pandemic when
itis very widely spread over a large tract, from country to country or over the continents.
Non-communicable diseases such as cancer, schizophrenia, high blood pressure
deficiency diseases etc., do not spread to other people via a common source.

The pathogenic microbes, in general, spread through (a) Human being (physical
contact or sexual contact among people or sharing of articles of personal use by two or
more persons). (b) Animals especially insects (mosquitoes, flies, rodents, lice etc.), and
(c) Non-living sources (soil, water, air, environmental factors). Host is necessary for an
infectious disease to spread. It may be a man or a living animal (including birds and
anthropoids), affording natural conditions for subsistence or lodging to an infectious
agent. Some protozoa or helminths (worms) pass through successive stages in alternate
hosts of different species. Hosts in which the parasite is in a larval or sexual state, are
secondary or intermediate hosts. After a person is infected, the germs remain latent in
his body, the individual showing no signs and symptoms of disease. This is incubation
period (or the time from the reception of infection or poison until the symptoms appear),
the durations of which varies from disease to disease, allowing the infected person to
remain absolutely healthy.

D —4705 14
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ik 312 WTeh Toaeh | 01 < Afstl A1 e ATkl o g SATKIT hH H THaret
g3l ot feieri W), (b) S o Hiead 9, foxiv &9 | hiei o - Hiesm § (7=, Ao,
AT Sie Tt YT T 5] M) AT (c) STITOi ezt 9 (g, arh, gan, ardmeroia
) | HshTeh AT 1 e o T T e 1 3 i €1 9% Wiea U A & ekl
T T Sfaa SeR (39 3T=aid qafiTor iR 9 Ay senfe) - 3 9eft 3 €, i 576 e &
o, Wi T YeM R € A1 W1k T I, ST oM i & | o WeISIsT a1 ey
(D) Torfirst wifordi 3 Senfeqer Areami & fafvs Tl & o therd €1 99 Areqwi | & awsiat
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Infection enters human body through at least three channels. (a) The skin (by
inoculation). The contagia of anthrax, vaccinia, tetanus, rabies and glanders pass through
skin. Abrasion helps infections from syphilis, gonorrhoea, etc. The biting insects convey
infection through bites on the skin, as in malaria, yellow fever, dengue, filariasis, plague,
sleeping sickness etc. (b) By inhalation through the respiratory tract, through air
pollution. The dissemination of infection takes place through droplet infection. When
the infected individual coughs, speaks loudly, sneezes or yawns, droplets of his sputum
containing germs of infection spread into the air around. Healthy individuals, generally
by accident, inhale this contaminated air to contract infection. Ill-ventilated houses,
congested school rooms and movie theatres etc., are a potential source of the spread of
infectious diphtheria, whooping cough, measles, influenza, common cold, pulmonary
tuberculosis etc., to a larger number of people from a single source, for the air profusely
contains pathogenic bacteria. (c) By ingestion, through the digestive tract. cholera,
enteric fever, diarrhoea and dysentery are conveyed by the use of infected articles of

food and drink.

The infection may be transmitted direct without intervention of a host. This is
called contract infection, in which discharge from an infected individual may get
conveyed to healthy individual(s) by droplet infection an in case of tuberculosis, measles,
influenza, common cold, whooping cough etc. When the proximity between the infected
individual and the healthy person is quite close (2 to 3 feet or so). When the discharges
from the mouth and nose containing causative infectious germs happen to be in the
form of fine sprays, the area of infection may extend upto 20-30 feet even, contaminated
hands and fingers may cause cholera dysentery and typhoid, and physical contact
(especially sexual proximity) may lead to spread of syphilis, chancroid and granuluma
venereum. Infection may be conveyed indirectly through mediation of a third party - a
vector or vehicle (inanimate objects such as dishes, utensils, toys, books, state-pencils
etc., as well as contaminated food items : and animates such as insects like mosquito

and fly.
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et 3 41 AR TR A € - 3 701 A1 ATk A1ea hed € | STel hig AoH Fsh(Hd el §
9 3Hh IR H i) fifed &1 v € e st & A % ig e = weqo 7 fomerd w21 34
SHEA (STR[ETA) I el (A1 AT T L A1 fad U-01 i i Fel¥ § &1l ek
A F 7Y qH) | TR AR § I7 1Al TR ST B B, SR TehfHa Al F quiEdr
WY Bl S T o

TS & YRR o TehHOT kT &G T HIEAHT W Foe BT § - (a) T (3T HH 6 W) |
T, S, 2o, ot qen ufer § graf-ud, gt wq =9 % weem 9 ed €1 w9 9
fawfe, THITET Senfs o el STEM &1 ST 81 h1eaTel i o8 W hied & g1 & =
Temd € S - Haifen, Waeer, S, WEARE, R, G St S, SRS (b) e el & 5
iF TR0 S Y ARIIGHYT o HIEAH R | TR GRHY, &l ok HehHU § BT | S HehfHd
AR W , SR S &, Siehdl 8, S I ¢, Lohdl & - 9 37 T § HHAU % FHler]
TR SR et gan ¥ wie & S €1 oy Sfad qr: STee 59 YSd g o weeh o
ST Heh{Hd &1 <11 € | Srogul o =R S g 3T WehteT ot |t T=ror =1} 2ran §, foramera &
ofigarel e, a1 farmERl senfs - 3 @t o o 1 5 o & Gared wee § -
fefterfen, shredl widl, frsed (Te), SHRIUT, FIERU M, Hhe i e gete fsrad wh
& e § STfe S ATk Hohfhd B © Hiifch ol H ULSIeh JeRIRal &l agd 3Tfueh
T B 1 () ITe o & g TV fohdl STH | | e, 31id & graif-od J@r, Ui, aen g
I SHTRET Whfad oM IR T gerelf o Suam & &1 o ¥

Tohmur form fonelt mieem & WY oft @ Tk ¥1 38 Tii SohHw hed € U Hehfaa
HAf STd Wy Afdd Al & Gk § 3Tl © ad GehH0T 8l ¢ | 9edT, foeied (=aw)
ST, TTHI=T S[hT, Shicll Widt Scarfe | shierpsti o R HshAvl BIa1 § | el HehHd fe
T T A & ol T S T9d T H7 Bt § (A | A Bie 91 F2 T &), e g 3R AR
BN SIS T Rk TG0 hielV] Td: FRIH foeha o €9 H Wd 8, 6 Hohavl 1 & 20 H 30
Thie deh YR 211 & | Ugftd are o7R sivfer «ft siew, Ufew, semere iR faew &9 9 fie
Ty ¥ Baret YRR Tk it SmEial S fawier, Smshee aun IHE 3 RE e o
Tead €1 WHHU YA TY Y AW U F HeAq § oft T ¥ - S ared onfe (3%
YT A1 ST gt S oreft, i, facth, o, wie, ifga, senfe) sa @ & vefia
W eIl o g off, J 31 WU | S el (Fest SR HaEl) & g ot Therar €1
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31. Match List - I with List - II and select the correct answer using the code given below :

List - I List - II
(a) Sneezing (i)  Syphilis
(b) Abrasion (i) Cholera
(c) Ingestion (iii) AIDS
(d) Incision (iv) Diptheria
Code : @ () () (@
(A) (i) @ (D) ()
(B) @i @ () ()
©) (iv) @ () (i)
(D) (i) () @) ()

32. The ill-ventilated house can be strong cause for :

(A) Whooping cough

(B) Influenza
(C) (A) and (B) are True
(D) (A) is True and (B) is false

33. Sexual proximity may spread :
i)  Granuluma venereum
ii)  Syphilis

iii) Measles

(

(

(

(iv) Common cold
(A) (i) and (ii) are true
(B) (ii) and (iii) are true
( (iii) and (iv) are true
(

None of the above is true

34. Agent for the spread of infection is :
(A) Rodents (B) Utensils (C) Food (D) All of the above

35. The main theme of the Passage is :
(A) Infections

(B) Health and Diseases
(C) Contagious diseases
(D) Spread of communicable and infections diseases

D —4705 18



31.

32.

33.

34.

35.

- [ 1 - 11§ THAE 21 I T TART L Tl ST Rl =4 i |

'gjﬂ.l - 11
(a) Sik () Towfd
(b) T (i) I
(c) TR (i) TsH
(d) = (iv) fefem
S : (@ () (© (@
(A) (i) (@) () (i)
(B) i) (@) (@) (iv)
©) (iv) () (@) (i)
(D) (i) @) @ ()

WS A1g TE YT ST SR FRH I 3 FHHOT 1 AT HRUN & Hehdl © -

(A) el @i (B) SRIUT
(C) (A) Ud (B) Tl & (D) (A) 9@ T TH (B) o ©
iR TrTeh Shell Fehdl © ¢

(i) IR (IgeTH SAREH)
(i) Tawfaw
(i) @ET

(iv) ISfT-@m™
(A) (i) R (ii) Tt &

(B) (i) 3R (iii) Wl &

(C) (i) 3R (iv) T &

(D) S § g o T T ©

GohHUT el 1 R ©

(A) TS=H (B) oA (C) HISH (D) IHE Gt
T 61 ygE foma §

(A) HhHT (B) oIEeH TH SHIEI

(C) S i SHIAT (D) T e HehTHeh AN T et !
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36.

37.

38.

39.

40.

41.

42,

Diseases that spried through insects, rodents and animals :

(i) Malaria

(i) Plage

(iii) Skin Disease

(iv) All of the above

(A) (i) and (ii) are correct

(B) (ii) and (iii) are correct
(C) (i), (ii) and (iii) are correct
(D) (i) and (iii) are correct

The characteristics of athletic Personality includes all except :

(A) Self confidence (B) Extroversion (C) Introversion (D) Submission

Hunger and Thrust are biological needs they are also known as :
(A) Organic need (B) Social need
(C) Esteem need (D) High order need

The cognitive reason of plateau in motor learning is :
(A) Lack of concentration (B) Change of teaching method
(C) Over loading (D) Chronic Injury

Factors responsible for pre-competitive anxiety does not include :
(A) Increased physiological activation (B) Performance flow

(C) Guilt (D) Loss of control

St. John Ambulance Association deals with :
(A) Health Education (B) Physical Education
(C) Medical Education (D) First - Aid

‘RICE’ is the first step of :
(A) Rehabilitation (B) Surgical treatment

(C) First - aid (D) Later management of Sports Injury
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36. SHIET ST HIS-HepIS!, Fadd dret Sia-iqail qen SRl ¥ Therdt & :
() HeifE
(i) T
(iti) oI
(iv) ST g+t
(A) (i) 9 (if) T &
(B) (i) e (iif) W&l €
(C) (i), (ii) o (iif) & &
(D) (i) e (iii) & &
37. ‘Uecifes safaaa’ § @t fosivamd afmfea €, faam -
(A)  TcHfIRETE (B) afeqe (C) A= (D)
38. @ U A Sfeeh STERIRAT &1 TR IT ot e ©
(A) TS SATeTeFhl (B) HMISIeh 3TTERdehdl
(C) TIRa Treret STavdehdl (D) 3 HIH IR
39. T faEeE H wid S WelfTeh RO E :
(A)  SFFFR= | HH B) Tagu fafy # sgama
(C) IR (D) =ie ! Trgfa
40. Tl vd o & wrenl # wfie w6 ©
(A) TEfa e SisRam (B) Ye¥H Ye®
(Q)  SAwHaY (D) o= @
41. Heol TEeid IiRug 1 e §
(A) e e (B) vmifn frenm
(C) Tafercan foren (D) wfer faferen
42, ‘=T YW RO T :
(A) IO (B) wreHfafheHT
(C) Tt fafere (D) &l T4 THI o1 I Joe
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43.

44.

45.

46.

47.

48.

49.

50.

Which one of the following is not environmental health hazards ?
(A) Earth quakes (B) Tsunami
(C) Droughts (D) Biological weapons

The factors influence occupational health hazards include :
(A) Ecological (B) Psychological
(C) Sociological (D) All of the above

The measurement of size and proportion of the human body is called :

(A) Kinematics (B) Kinesiology
(C) Anthropometry (D) Physiology

Goniometer measures :
(A) Flexibility (B) Agility
(C) Strength (D) Speed

The muscle developed by aerobic exercise in the early childhood :

(A) Slender (B) Thinner (C) Longer (D)

The exponents of cathartics theory of play is :

(A) Aristotle (B) Sigmund freud (C) Wundt (D)

The best way of managing physical education programme is :
(A) Autocratic (B) Democratic

(C) Bureaucratic (D) Laissez’-Faire

The effectiveness of teaching can be judged by :
(A) good subject contents

(B) strict discipline

(C) impact on the students
(D)

liberty to students

-00o0-
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43.

44.

45.

46.

47.

48.

49.

50.

frefafed o F o wiereiia e e =l € :
(A) Y (B) gt (©) Hmn

ATk L 3] hl YHIferd Thid ol hiehl § Gfferd © :
(A) TRfEerfasht (B) WAGTR (C) THSITE

T YRR 1 SATHR TS GHITIAT o HTI I Had ¢ :

(A) TS TR (B) HMa Tfd fomm
(C) #e A9 o (D) R foran foagm
Tﬁﬁ'@l’:ﬁaqﬂ?ﬂ%:

(A) Tt (B) Tl (C) wfw

o arcaraEen § Wfae Ty § wigaei foamm g §
(A) ARSI-qdedt (B) et (C) it

YA & henfesh fagra o SHe © :
(A) % (B) fameswre (O 3=

s fo1en SEshH & YoreH &t Taran fafa © -
(A) T (B) USIdifsh (ORIEI

318701 &Y YHTETcHeRdT i HIY i ST Fehel @
(A)  oT=St foma-ag (B) hel SRS
(C) fo=nfeiai W gura (D) forenfi=i =t B2

-00o0-
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